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’ _ Thém va trir cac s6 hop 1y Ho va Tén:

Giai quyét tirng van dé Cau tra loi
D 4+ (-92) = 1
2) 76 - 65.5 = ,
3 59.2-61= 3
4) 8.13 - (-5.1) = \
5 46 + 67.2 = .
6) 22 - (-88) = )
7 20.008 + (-11) = ,
8) 8.91 - (-39) = .
9) 38.005 + 92 = ;
100 2.02 + (-12.04) = 0
1) 46 - 98.365 = ;
12) 23 . (-51.7) = >
13) 98 + (-4.4) = ;
14) 73 .88 = o
15) 63 - (-51) = .
16) 28.32 + (-64) = g
17) 87 + 83.68 = o
18) 68.2 - (-23) = ”
19) 69.3 +41.02 = o
143+ (-9 = 20.
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Thém va trir cac s6 hop 1y

Ho va Tén: Loi gifli

Giai quyét tirng van dé

D 4+ (-92)= 88

2 76-655= 105

3 592-61=-18

9 813 -(-5.1)= 1323
5 46 +67.2= 1132

6) 22 - (-88) = 110

7 20.008 + (-11) = 9,008

8 8.91 - (-39) =

9 38.005 + 92 =

10) 202 + (-12.04) =

1) 46 - 98.365 =
12) 23 . (-51.7) =
13) 98 + (-4.4) =

14) 73 _ 88 =

47,91

130,005

-10,02

-52,365

74,7

93,6

-15

15) 63 - (-51) =

16) 28.32 + (-64) =

17) 87 + 83.68 =

18) 68.2 - (-23) =

19) 69.3 +41.02 =

20) 43 + (-9) =

114

-35,68

170,68

91,2

110,32

34

Cau tra loi
1 -88

2 10,5

3 -1,8

4 13,23
5 113,2
6 110

7. 9,008
8. 47,91
o. 130,005
0. -10,02
1. -52,365
12. 74,7
13. 93,6
14, -15
5. 114
6.  -35,68
7. 170,68
18. 91,2
9. 110,32
20. 34

1-10
9 11-20
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Thém va trir cac s6 hop 1y Ho va Tén:
Giai quyét tirng van dé Cau tra loi
13,23 110 -52,365 47,91 10,5
9,008 -10,02 113,2 -88 74,7 1.
-1,8 130,005
2.
D 4+ (-92) =
3.
2) 76 - 65.5 = 4,
5.
3) 59.2-61=
6.
Y 8.13-(-5.1) = 7.
8.
S) 46 + 67.2 =
9.
6) 22 - (-88) = 10.
11.
7 20.008 + (-11) =
12.
8) 8.91 - (-39) =
9 38.005 + 92 =
10) 2.02 + (-12.04) =
1) 46 - 98.365 =
12) 23 . (-51.7) =
. Puwoc thay doi boi 1-10 [92 83 | 75|67 [58 [50[42[33[25[17 |
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